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Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 52
Number of Questions to be attempted : 52

Section Marks : 52
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897054
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 1 Question Id : 2549896386 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a unit of memory in a computer system?
Options :

1. % Gigabyte

2. % Byte

3. & Megabyte

4. % Hertz

Question Number : 1 Question Id : 2549896386 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

o & B, e Ren & 40 &1 3a1E e R2
Options :

1. ® IRTEge

2. & 9Ikc

3. ® TATETSC

4. ¥ GCA

Question Number : 2 Question Id : 2549896942 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
With reference to computers, PC stands for:
Options :

1. *= Personal Comprehension

2. % Personal Computing

3. %" Personal Computer

4. % Personal Calculation

Question Number : 2 Question Id : 2549896942 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

HR & oo & dit (pe) BT QUi FU T R?
Options :

1. % URHA IR

2. % TS SIS

3. " A HER

4. % T HeagaRA
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Question Number : 3 Question Id : 2549897252 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

From which of the following directories does data from the system in Linux get automatically deleted after ten days?
Options :

1. = /dev

2. % tmp

3. &% Jetc

4. & /lib

Question Number : 3 Question Id : 2549897252 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fafoRed & 9 frg STREet ¥ foMad (Linux) # Ried ¥ ST & fa1 & 916 wWaiad ¥4 3 geT f&ar S g2
Options :

1. % /dev

2. % /tmp

3. & Jetc

4. % /lib

Question Number : 4 Question Id : 2549897856 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With reference to accessing data in database management systems (DBMS), ODBC stands for:
Options :

1. % Object Database Connectivity

2. % Open Database Connectivity

3. & Organized Database Connectivity

4. % Offline Database Connection

Question Number : 4 Question Id : 2549897856 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

$ay e e (DBMS) # 3T TR o3 & T #, oDBC &1 guf wu s 82
Options :

1. ® 3ffeoide Sy HAfaede (Object Database Connectivity)

2. % 3T Sclay HHlacidet (Open Database Connectivity)

3. & 3‘|'\|J"'f'_‘|T§% SeTey HAfgefdet (Organized Database Connectivity)

4, = 3‘ITWQ‘II$"I ScleY b dRI (Offline Database Connection)

Question Number : 5 Question Id : 2549898447 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which function returns the hyperbolic cosecant of an angle in MS-Excel 2019?
Options :

1. %= HCOS function

2. % COSINEH function

3. %" CSCH function

4. % COSANG function

Question Number : 5 Question Id : 2549898447 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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MS-Excel 2019 ﬁ, HIH-IT R Th P BT Bmﬁ‘l?ﬁ b ST (cosecant) a_dT %‘?
Options :
1. ® HCOS Bha=H
2. ® COSINEH Ba=H
3. % CSCH harH
4. ® COSANG o=

Question Number : 6 Question Id : 2549898995 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The tool used by a programmer to convert a source program into a machine language object module is:
Options :

1. % a compiler

2. % aloader

3. ® a preprocessor

4. & alinker

Question Number : 6 Question Id : 2549898995 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fort TR gRT forft T Ui &) F=f UTeT 3ifssige Aeyd § Ieaq & ford Tad o o1 82
Options :

1. % HHIFR

2. % dleY

3. % JLURIR

N C

Question Number : 7 Question Id : 25498911557 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How many arrow keys are there on a general qwerty computer keyboard ?
Options :

1. % One

2. % Two

3. & Three

4. % Four

Question Number : 7 Question Id : 25498911557 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
me(qwemy)mmﬁm:ﬁ@wﬂ?@?ﬁg?
Options :

1. & Uh

2. %3

3. & dH

4. IR

Question Number : 8 Question Id : 25498930227 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
What is the capacity of a Blu-Ray Single Layer Recordable Disc (BD-RE SL) of storing HD footage?
Options :
1. = Upto 50 GB
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2. % Upto 100 GB
3. % Upto25GB
4. % Upto 150 GB

Question Number : 8 Question Id : 25498930227 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

X R TR RepTeaet f$%b (BD-RE SL) H HD Pes WR A &1 &l faa gil &2
Options :

1. % 50 GB d&

2. % 100 GB d&

3. % 25 GB ddh

4. % 150 GB d&

Question Number : 9 Question Id : 25498930643 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A(An) is unidirectional. It emanates from the microprocessor and reaches the memory unit and input/output units.
Options :

1. % data bus

2. % address bus

3. & control bus

4. % instruction block

Question Number : 9 Question Id : 25498930643 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

g JASTRERAT ¢ | T8 ATSHITRR § Faaar g 3R BUR} gfAe 3R 39qe / 313eye SHIedl dd Ugdad g

Options :

. % SaT9Y

2.+ TSI Y
3. K ol o
4. % SERA D

Question Number : 10 Question Id : 25498930681 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Which interrupt is the first choice of sound cards while looking for IRQ settings?
Options :

l. ® IRQ1

2. ¥ [RQ3

3. % IRQ5

4. % IRQ7

Question Number : 10 Question Id : 25498930681 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

IRQ qfey ﬂ:fef & foe, g8 @ DI $¢U (interrupt), IS HTS T Ugal UG 82
Options :

1. ® IRQ 1

2. #1RQ3

3.% IRQS
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4. & JRQ7

Question Number : 11 Question Id : 25498930989 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following service is NOT offered by Google?
Options :

1. = Keep

2. % Blogger

3. % Hangout

4. %" iCloud

Question Number : 11 Question Id : 25498930989 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
FEfRed & 9 1 94T Google ERT UG g1 BI &Nl 5?2
Options :

1. = W(Keep)

2, = W(Blogger)

3. = %T[GTIB? (Hangout)

4. " 3 II13S (iCloud)

Question Number : 12 Question Id : 25498933068 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As you draw on a tablet with a stylus, the software on the tablet producing a drawing on the screen.
Options :

1. % swaps your movements

2. & gstores your movements

3. % follows your movements

4. % interchanges your movements

Question Number : 12 Question Id : 25498933068 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

S 3T AT (FLT30Y) GRT eadic R his 7 I-1d @, df cadie Pl JheadR T U (TP 1) R o s=rar Sran g |
Options :

1. % 30! GaHe &I WY IR

2. % 3MUD! e B UL B

3. # 3{TUD] HGHE BT 3TERU HR

4. % 30! IHC BT TGH-UEH B

Question Number : 13 Question Id : 25498933195 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is composed of two binary arithmetic operations: multiplication and subtraction.
Options :
1. *= Binary subtraction
2. % Binary addition
3. #% Binary multiplication

4. % Binary division

Question Number : 13 Question Id : 25498933195 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

T g 1) Tt Ty, o SR " wnfia ||
Options :
1. ® SIgRI qacaRH
2. ® g TSRH
3. & SR Hee TQIh e
4

. SIS fSfaeH

Question Number : 14 Question Id : 25498933866 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A phase in the Voltage Regulator Module (VRM) of a graphics card is made up of:
Options :

1. = alogic device and a power device

2. % apower device and a filtering device

3. % alogic device and a filtering device

4. % apower device and a display device

Question Number : 14 Question Id : 25498933866 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TheRT TS P dlecsl WA A (VRM) H T e (phase) HIS A
Options :

1. % qrfores fEarsd ok laR fEargd

2.+ TR f$a1s 9 ofR flheef fearsy

3. % Qo fearsd SR fheef feargw

4. % UieR fEarsy ofR feww fEarsy

Question Number : 15 Question Id : 25498934848 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Random scan monitors are also referred to as:
Options :

1. % stroke writing displays

2. % raster scan monitors

3. & interlaced scanners

4. % non-interlaced scanners

Question Number : 15 Question Id : 25498934848 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
YsqAed s Hwud i gehiid fearemarg
Options :

1.« I i fewa

2. % IR T A

3. % 3RS W

4, % -3 WY

Question Number : 16 Question Id : 2549898164 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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, T T & 1, SHTORIET Riew 7R Jarait & T1 IuahT &1 o arell U JRe faen €, S T fpt off @ &) dfew
TR ol § Off U Ae IRHIeR § i aff v & fawd Year 3|
Options :
1. ¥ SBIIC AlDB I
2. % 9T 3BT Al A3
3. % GarRY
4. % UrgdS YRad (ST urgas)

Question Number : 16 Question Id : 2549898164 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

is a security feature used with operating systems and services with a login, that locks any account that has failed a login attempt
more than a set parameter.

Options :

1. % Account lockout

2. % Reset account lockout
3. % Antivirus

4. % Changing password

Question Number : 17 Question Id : 2549898376 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fRren ergH S &1 HIFPIRR H FTE 3@ 1l & |
Options :

1. % CMOS

2. & BIOS

3. % SMPS

4. % POST

Question Number : 17 Question Id : 2549898376 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

System time settings are maintained in configuration.
Options :

1. % CMOS

2. & BIOS

3. % SMPS

4. % POST

Question Number : 18 Question Id : 2549899436 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

f&wiee fiféT fawen (gaeaR fife ¥em) WAt T ud wEgad  gsi & e s
Options :

1. % g HB1 91

2. % fqwy dB ard

3.+ Ul

4. % AAH

Question Number : 18 Question Id : 2549899436 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The default printing option (toolbar print button) will print pages of a file automatically.
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Options :
1. = the even number
2. & the odd number
3. %% all

4. % the current

Question Number : 19 Question Id : 2549899459 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Siagiic dI fic pA & forg, iR g w13m@m e §
Options :

1. %" BICO (Cartridge)

2. & HeR (Container)

3. & W(Memory)

4. % MR (Spooler)

Question Number : 19 Question Id : 2549899459 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
To print documents, the printers use ink:
Options :

1. % cartridge

2. ® container

3. % memory

4. % spooler

Question Number : 20 Question Id : 2549899616 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fordlt fifeR 1 eld B & R, T fdSiel SuaiTehdl 1 Pai S A1 T2
Options :

1. " el 0d R

2. % 1Y Slagc R

3. % g fEaRa W

4. ® A Jedd W

Question Number : 20 Question Id : 2549899616 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

To install a printer, a Windows user must go to:
Options :

1. % Control Panel

2. & My Documents

3. % My Device

4. ® My Network

Question Number : 21 Question Id : 25498910782 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

3 AR W, e el fliex &1 Sy & fou fpa S 7
Options :

1. % I IR s U8 wrge fiife

2. % T X9IIegH Her U
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3. % Y WegeH <% U8 @15e fife
4. % g WlegeH der fifdn

Question Number : 21 Question Id : 25498910782 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In general, the more expensive printers are used for:
Options :

1. % high resolution black and white printing

2. % high resolution colour printing

3. % Jow resolution black and white printing

4. % Jow resolution colour printing

Question Number : 22 Question Id : 25498911121 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Zpoic fMiex Bt WIE &) P& W HI S STl 82
Options :

1. % 9 ffex &1 JanT 7 HR @ 81 al 39 Al (3HT) B
2. & PIfCHor &I 4 I FaTd|

3. & FHICHY &1 3= 1 Y AIHH R 37|

4.« T &1 3 IR IUANT B |

Question Number : 22 Question Id : 25498911121 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How does one prevent the drying up of the ink in an inkjet printer?
Options :

1. ®= Turn printer on when not in use.

2. & Do not moisten cartridges.

3. & Keep the cartridges in high or low temperatures.

4. % Use the printer more often.

Question Number : 23 Question Id : 25498913437 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

f&foree 30l & Ha #, Fafefad # 4 -1, Ja1 & Feuu 3 ge18?
Options :

1. % R-ie wWiikd Res=it

2. % - CrHRe Rgs=it

3. & DIST RSt

4. % FrEHiagsid Res=it

Question Number : 23 Question Id : 25498913437 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With reference to digital images, which of the following is associated with the representation of information?
Options :

1. % Inter-pixel Spatial Redundancy

2. % Inter-pixel Temporal Redundancy

3. % Coding Redundancy

4. ® Psychovisual Redundancy

https://g01.tcsion.com/CAE/viewHtmIPDFAction.action 10/38



03/03/2023, 17:55 https://g01.tcsion.com/CAE/viewHtmIPDFAction.action

Question Number : 24 Question Id : 25498913462 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Bid Fdte gumen (image compression system) & ddl BT A EQ'IT.QI
Options :

1. % TRABER -> HIfCOR > PIeX

2. & PIS -> BIfCIR -> TRABER

3. & PHIST > TRAHIR > HifCoR

4. % BHICIR -> TAHIR > DIeX

Question Number : 24 Question Id : 25498913462 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Name the sequence of elements of an image compression system.
Options :

1. % Transformer -> Quantizer -> Coder

2. & Coder -> Quantizer -> Transformer

3. & Coder -> Transformer -> Quantizer

4. & Quantizer -> Transformer -> Coder

Question Number : 25 Question Id : 25498918488 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Excel 2019 ¥ T J ST HI BT (cut ) & 1w g 7 I f5g widewe Hoit o1 IuanT fovar Sirar g2
Options :

1. ® Ctul+C

2. & Cul+Vv

3. % Ctrl+X

4. ® Ctrl+Z

Question Number : 25 Question Id : 25498918488 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following short cut keys is used to cut the data from a cell in MS-Excel 2019?
Options :

1. & Ctrl+C

2. & Cul+Vv

3. % Ctrl+X

4. ® Ctrl+Z

Question Number : 26 Question Id : 25498921930 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

forprm TEniyw, TRrmE ok fefrmm & fore uewd grolt &1 SuaM Far g |
Options :

1. " G ol

2. % AR ol

3. % FgHTSil

4. & ArdfiS

Question Number : 26 Question Id : 25498921930 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
___ cryptography algorithm uses a single key for encryption and decryption.
Options :
1. % Symmetric key
2. % Asymmetric key
3. & Shared

4. % Universal

Question Number : 27 Question Id : 25498922691 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fofarsit gRT THa- g IR Wit dwR 3USe i UeH fd oird 82
Options :

1. % GEIWR H F &I WA & o

2. % JiUediR & THR Pl d¢H & o]

3. o IR J S &1 3l a3 & |

4. % ghY gRI gHA! B! GHTGTSH &Y g & forg|

Question Number : 27 Question Id : 25498922691 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Why software updates are provided by the manufacturers from time to time?
Options :

1. ® For opening the bugs in the hardware

2. % To increase the size of the software

3. % To fix the bugs in the software

4. % To increase the chances of attacks by the hackers

Question Number : 28 Question Id : 25498924445 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

9 A PR, g (UNIX) B B AfFgaRE Red $id T8 82
Options :

1. % sleep()

2. & open()

3. #% read()

4. % write( )

Question Number : 28 Question Id : 25498924445 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT the file manipulation system call of UNIX?
Options :

1. % sleep()

2. & open()

3. # read()

4, % write()

Question Number : 29 Question Id : 25498925394 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

THY ?ﬁq—ﬁr, Uh ]%3’% HHHAT (power problem) KK

Options :
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1. & Jqof
2. & RABHATIT
3. & JI33HI3<C

4.« ThHRE I (TR)

Question Number : 29 Question Id : 25498925394 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a power problem?
Options :

1. %= Surge

2. ®% Blackout

3. % Brownout

4. % Application error

Question Number : 30 Question Id : 25498927435 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

HR B LAN J Hde d & [T b UBR & Had Hridex o1 SUANT fasar Srdr g2
Options :

1. % HDMI

2. % IDE

3. % VGA

4. % RJ45

Question Number : 30 Question Id : 25498927435 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which type of cable connector is used to connect the computer to the LAN?
Options :

1. = HDMI

2. = IDE

3. % VGA

4. % RJ45

Question Number : 31 Question Id : 2549896722 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the context of the internet, what does the abbreviation "' WWW' stand for?
Options :

1. ®= World With Web

2. & Wide Wide Web

3. % World Width Web

4. %" World Wide Web

Question Number : 31 Question Id : 2549896722 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

gexe & Yo & www Ifére T %1 gl U @ 82
Options :

1. ® gcs faY I (World With Web)

2. ¥ G138 d138 9§ (Wide Wide Web)

3. % g0 fAgY Id (World Width Web)
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4. % 9GS d13S a9 (World Wide Web)

Question Number : 32 Question Id : 2549896729 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Print Screen key on a computer keyboard belongs to which of the following category?
Options :

1. ® Typing keys

2. % Function keys

3. & Control keys

4. % Special purpose keys

Question Number : 32 Question Id : 2549896729 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

YR P W i S ot Praffd & & few ot & e &2
Options :

1. % erefi ot

2. & TraRM Hiorl

3. & g Hiomr

4. v o= Yo iorar

Question Number : 33 Question Id : 2549896746 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
PayPal is an application for:

Options :

1. *= spider detection

2. & spam protection

3. % online money transactions

4. & online stock trading

Question Number : 33 Question Id : 2549896746 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TS (PayPal), TP URHTA B

Options :

1. % WIS BT Udl T o forg
2. % T QRe P forg

3. & 3R 0¥ & Aed P forw
4. ® AT XD e & g

Question Number : 34 Question Id : 2549897560 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A computer monitor is an electronic output device that is also known as a
Options :

1. % Video Display Terminal

2. % Video Display Tab

3. % Video Display Terminator

4. % Video Display Tabular

Question Number : 34 Question Id : 2549897560 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

SR HiHIeR TP AR S3eye fSarsd § o & =Y H of ST S B
Options :

1. v e fewa efifa

2. % Jifea fowt s

3. % Jifea fow efifRer

4. % s fowa Toger

Question Number : 35 Question Id : 2549897947 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following type of computer monitor uses a beam of electrons to create an image on the screen?
Options :

1. % Cathode Ray Tube

2. % Light Emitting Diode

3. % Liquid Crystal Display

4. ® Gas Plasma Display

Question Number : 35 Question Id : 2549897947 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

g 7 @ 5 UPR BT e AlIeR, T W T 30 51 & 7T gaaeT-i & §1H &7 JuahT Bl 32
Options :

1. ¥ PUS Y A

2. & Tsc UHfET IS

3. * fifepe fobeea fewd

4. % 9 wreA feuat

Question Number : 36 Question Id : 2549897996 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the full form of '"VPA' in the context of BHIM?
Options :

1. % Virtual Primary Address

2. % Virtual Payment Address

3. % Virtual Primary Account

4. % Virtual Payment Account

Question Number : 36 Question Id : 2549897996 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T (BHIM) & G , veA' &1 quf WU e 82
Options :

1. ® agf&raumfr@v (Virtual Primary Address)

2. fa—gfemﬁﬁzqév (Virtual Payment Address)

3. = a%jmmsm"r 3BHT3C (Virtual Primary Account)
4, =® aﬁGﬁT e 3foTde (Virtual Payment Account)

Question Number : 37 Question Id : 2549899016 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is the act of placing/buying/selling orders for financial securities and/or currencies with the use of a brokerage's internet-based
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proprietary trading platforms.
Options :
1. % Online trading
2. % Auction
3. % Marketing

4. % Production

Question Number : 37 Question Id : 2549899016 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
, ST ol & S-SR WITHE a1 ATIR WICHIH BT SUANT o i ferfardt qurar garsit & fou xa-/asie/
T P X A BT PR B
Options :
1. % 3{eTsT AUR

Question Number : 38 Question Id : 25498910438 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following change case option in MS-Word 2019 lets you capitalise first letter of a sentence and leave all other letters as
lowercase?

Options :

1. % Sentence case
2. % UPPERCASE
3. & lowercase

4. % Capitalize sentence

Question Number : 38 Question Id : 25498910438 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2019 H Fafifed & @ S19-91 9o 59 ey SUH! T I & Ugd &R &) el B Sl 8 SR o It 3iari &1
ANoRF =0 OIS I

Options :

1. % G Y (Sentence case)

2. % 3R &Y (UPPERCASE)

3. ® QISR Y (lowercase)

4. = mﬁéﬂ (Capitalize sentence)

Question Number : 39 Question Id : 25498910561 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is the default value of the TOP margin in the mirrored margin setting in an MS-Word 2019 document.
Options :
1.%1”
2. % 1.25”
3. %27
4. % 0.75”

Question Number : 39 Question Id : 25498910561 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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. MS-Word 2019 StagHc # RS AfeiH It # 2y #ife &1 f$tiee AM B |
Options :
.17
2. % 1.25”
3. %27
4. % 0.75”

Question Number : 40 Question Id : 25498910636 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following MS-Excel functions counts the number of cells that are not empty in a range?
Options :

1. % COUNT()

2. % COUNTA()

3. % COUNTIF()

4. % COUNTBLANK()

Question Number : 40 Question Id : 25498910636 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FRffRad & ¥ HH-1 MS-Excel HaRM 37 F&f (Aed) B WA $1 TUMT 6T 8 Sl Th J07 (o) T Jreit el 82
Options :

1. % COUNT()

2. % COUNTA()

3. &% COUNTIF()

4. % COUNTBLANKY()

Question Number : 41 Question Id : 25498910713 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a search engine?
Options :

1. & www.google.com

2. % www.msn.com

3. & www.yahoo.com

4. % www.bbgindia.com/

Question Number : 41 Question Id : 25498910713 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
e 3 P91, TP T o T B2
Options :

1. = www.google.com

2. % www.msn.com

3. % www.yahoo.com

4. %" www.bbgindia.com/

Question Number : 42 Question Id : 25498910732 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What does the wildcard character "*' signify with reference to MS-DOS and the Windows command line?
Options :

1. % Occurrence of any single character in specified range
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2. %" One or more occurrences of a character
3. % Any single character

4. ® Any single character except the characters inside the brackets

Question Number : 42 Question Id : 25498910732 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-DOS 3R Windows HHIE AT & e H, aZEHIS quf ' o1 SRITdT 82
Options :

1. % ffdy i o forsht U aul 1 ufed g

2.+ U DHaex BT IS 7 3P IR ST

3. % PIs Ul T PeaeR

4. % SHeY P IR B HdeR B SISHR By Ht T Haex

Question Number : 43 Question Id : 25498911467 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Satheesh is working on an MS-Word document. When he types - -> and if AutoCorrect is turned on, it properly inserts the symbol.
Options :

1. ® copyright

2. % trademark

3. % arrow

4. % smiley face

Question Number : 43 Question Id : 25498911467 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ﬁgﬂm-%rd@a@?mmmm%wm»mmsﬁ?ﬁ%aﬁwm(on)%ﬁaﬁ Ui gl ST
|

Options :

1. & HURIZC

2. % CSHTD

3. ¥ W (@R)
4, % W By (UG 98xT)

Question Number : 44 Question Id : 25498911491 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MS-Word 2019, the keyboard shortcut is used to run a spelling and grammar check.
Options :

1. ® F1

2. % F2

3. % F7

4. ® F9

Question Number : 44 Question Id : 25498911491 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
MS-Word 2019 H, WA 3R YR I B IAM & [T Diare Qcdhe 1 IUANT fopeT ST & |
Options :
1. % F1
2. % F2
3. % F7
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4. %= F9

Question Number : 45 Question Id : 25498911824 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MS-Excel 2016, the symbol s prefixed before a number to treat that number as text.
Options :

1. % apostrophe (')

2. % comma (,)

3. & double quotation (")

4. & tilde (~)

Question Number : 45 Question Id : 25498911824 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Excel 2016 7, fd Tl dRe S SU A A & R udis o) 3 TReam ¥ Ugd T s g1
Options :

1. % JdY PR g, UURC™ ()

2. ® 3[R (,)

3. # IR 3G (")

4. % T (~)

Question Number : 46 Question Id : 25498911972 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following keyboard shortcuts is used to increase the indent of a selected paragraph in MS-Word 2019?
Options :

1. % Ctrl + Shift + Alt + M

2.% Cul+M

3. % Cul+N

4. & Alt+ Ctrl + M

Question Number : 46 Question Id : 25498911972 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2019 H TTfd TREME & §3¢ &I d¢M & ot g & T frg Sia1S 2icde o1 IuanT fhar Srar g2
Options :

1. % Ctrl + Shift + Alt + M

2.% Ctrl + M

3. % Ctrl +N

4, % Alt+Cul+M

Question Number : 47 Question Id : 25498912507 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The 'Header & Footer' option is available in which of the following tabs in MS-Word 2019?
Options :

1. % Home

2. % Insert

3. % Layout

4. % Design

Question Number : 47 Question Id : 25498912507 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

2o 3R Ureard (Header & Footer)' fa®ed, MS-Word 2019 # FHfafad 7 9 fow 9 Iudsy %‘?
Options :

1. = @ﬂ (Home)

2. W 3:\‘:[?.; (Insert)

3. % TSMTIT (Layout)

4, & %W@(Design)

Question Number : 48 Question Id : 25498919166 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In MS-Word 2019, when we click on the given ivon in the Envelopes and Labels dialog box, the dialog
o will open.

Options :

1. % Feed

2. ® Preview

3. % Envelope options
4. ® Positioning

Question Number : 48 Question Id : 25498919166 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
ms-word 2019 H, el g4 wedelhd ST daa Siaarn i | FE sagae g e add § dl G -an S dig e Ee

Cipbons....

Options :

1. % IS (Feed)

2. = Cﬁ@{(l’review)

3.« [TmTwT faded (Envelope options)
4, % %(Positioning)

Question Number : 49 Question Id : 25498920454 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is the selling and buying of goods and services through the internet.
Options :
1. % E-commerce
2. & Internet
3. % Email

4. & E-filing

Question Number : 49 Question Id : 25498920454 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

gexAC B HIeH A I a1 gRywrel & wdia- st oY FEA I
Options :

1. S

2. % 3T

3. % 3T
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4. % S BTSOMT

Question Number : 50 Question Id : 25498925523 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MS-Word 2019, when we select a piece of text or a number and press (Ctrl + Shift + Plus sign) at the same time what will happen?
Options :

1. % The text or number will change to subscript.

2. % The font will shrink in size.

3. % The text or number will change to superscript.

4. % The font will grow larger in size.

Question Number : 50 Question Id : 25498925523 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2019 H, 576 §H H13 Sae I BT 1 T B & 3R U IHG (Ctrl + Shift + Plus TIST) HIomT <ald & al a1 g2
Options :

|, ® CRe g1 ST Yafhy | dad SIEdil|

2. & TpiC PR H BIcT g1 S|

3. % CRC 1 ST YURISHY H 9ad ot

4, & i< MDHR T §3T g1 S|

Question Number : 51 Question Id : 25498932154 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following tab under the Table Tools provides various settings, including gridlines, properties, etc. for tables in MS-Word
20167

Options :
1. % Design
2. % Layout
3. ® View

4. % Review

Question Number : 51 Question Id : 25498932154 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

fRffad ¥ @ SH-11 29 29d ¢ & d8d, MS-Word 2016 T 29 & forg rsars=y, wiadfr snfe wfed fafie afdw vem srarg?
Options :

1. & %\_ﬂg:[ (Design)

2. % TATIC (Layout)

3. % T (View)

4. ® R (Review)

Question Number : 52 Question Id : 25498933774 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a valid 'Document Views' option in MS-Word 2016?
Options :

1. % Draft

2. % Read Mode

3. % Write Mode

4. ® Web Layout
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Question Number : 52 Question Id : 25498933774 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fofad & ¥ DH-91, MS-Word 2016 § T 4% 'Document Views' faded g1 82
Options :

1. % GIUC (Draft)

2. % s Hs (Read Mode)

3.« 5C HIS (Write Mode)

4. % q9 33T (Web Layout)

READING COMPREHENSION

Section Id : 2549897014
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 5

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897055
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 25498921103 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Question Numbers : (53 to 57)
Read the given passage and answer the questions.

Good Manners

A well-mannered man is respected and esteemed wherever he goes and is given regard in whatever condition of life he may be. A rich man
without good manners is not really respected by anyone. On the contrary, a poor man, with tattered clothes, but who possesses delightfully
good manners is sure to attract everyone's attention and win everybody's hearts.

Among young people in particular, preservation of good manners is a boon. They help them to develop a great personality. Good manners
cost nothing. On the contrary, they pay us a lot.

If we say, "Thank you" when we receive anything from someone, it makes us great in the eyes of the person. We must say, "Please" when
we request for something. The word, "Sorry" is magical and can solve many problems and issues. We must be courageous enough to
accept our mistake and never hesitate to say, "Sorry".

It is a noble deed to compliment others for their good qualities. This way we can win many friends.

There is a lot of suffering all around us. We must be compassionate towards someone who is in pain. We must always be ready to help the
poor, weak and the downtrodden around us.

The world today is infested with corruption and there is a degradation of moral values. All this is because we spend less time with each
other and more time with machines. This is making us stone-hearted, without feelings and respect for people. We must make efforts to
imbibe values and good manners to succeed in life.

Sub questions

Question Number : 53 Question Id : 25498921104 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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A well-mannered man is one who is:
Options :
1. % respected
2. % rich
3. % poor

4. % sorry

Question Number : 54 Question Id : 25498921105 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
Young people benefit from good manners by:
Options :

1. % developing a great personality

2. % helping the downtrodden

3. & saying ‘thank you’

4. % becoming rich

Question Number : 55 Question Id : 25498921106 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

How is a person affected by good manners?

Options :

1. % His personality becomes attractive.

2. % He begins to understand others' suffering.

3. % He becomes more helpful towards the weak and the poor.

4. % He becomes courageous.

Question Number : 56 Question Id : 25498921107 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

We should compliment others for their good qualities because:
Options :

1. * it helps us to become rich

2. & it makes us courageous

3. %" it is a noble deed

4. ® we attract everyone’s attention

Question Number : 57 Question Id : 25498921108 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The world today is infested with corruption because:
Options :

1. % we praise each other

2. ® we are compassionate

3. % we respect each other

4. %" we spend less time with each other

Question Id : 25498921103 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Question Numbers : (53 to 57)

faQ U TR Y U 3R TP MYR W UL & IR S|
RITER
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TMRTI "HIG FHY Th Tgs Vet & 3R T8 Igd IR} RS 3R Gl o) 5 IR bl 3 | g1 U Tt &l WdR B aradh
FETGR BT A8 T 3R FHaft +ft "7 B e § feger1 6t =nfeul

IR & 0T B TRTG P Tb IH BT g | T §H P [ &1 Hbdl g |

IR IRI 3R 95 IR W1 &1 89 T cafad & Ul Houmdg g1 anfeu st g & 811 8 3UH 3M9-UM & TRIE, HHOIR 3R
Uagford IR &1 FeTadl & foy ¥¢d dUR 81 1t

3T g YPREIR 9 e § ok e qedl § fRrae o €1 98 9 39T & i 1 Th-gak & Iy A 3R 7R & Iy
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Sub questions

Question Number : 53 Question Id : 25498921104 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
s R ARt
Options :

1. % ldaR

2. & Yqd

3. ® 9

4. % HIB! AT

Question Number : 54 Question Id : 25498921105 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

foraeh gRT 3= RITER  gar a1 81 &2
Options :

1. % HgH Hadd Bl [dhT HRdb

2. % UGGford Nl Bt Haa b

3. % YdIG S B

4. % Y7 S D

Question Number : 55 Question Id : 25498921106 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

3= RIVER ¥ e S uvifad gidr g2

Options :

1. % ISP Afddcd NHYD & ST 8l

2. % I8 IR P UIST &) THIH a1 8 |

3. % g8 HHOR] 3R TRIe & Ufd 31 AR o7 ST 2|
4, % 98 QTG 99 STl 5|

Question Number : 56 Question Id : 25498921107 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
BH GURI & 0N B WG d Ay i |
Options :
1. & U5 g8 Y9aM 5 B AGg Bl o
2. % g g el ¥ §
3. % T8 U JTH P §
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4. % GH YIBT A SATHNT B od &

Question Number : 57 Question Id : 25498921108 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

e gFAT YRR Y dfSag /s |

Options :

. % B Uh-gHR Pl UL BRa §

2. % BH BN &

3. % §H UH-gWR $T GHH I &

4. §H U-gHR & 1Y HH GHY oI B &

QUANTITATIVE APTITUDE

Section Id : 2549897015
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6

Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897056
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 58 Question Id : 25498914318 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What i3 tee vabwe of he given sxpression?
[rﬁv'?+ 1._."] ¥ |:'|.'|.'I? -+ E*.'T:I] — {193t =7

Options :
1.« 143

L & 72T

5 w134

4, K ?D '-.l'?

Question Number : 58 Question Id : 25498914318 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ey R I R W HE R

[(597 7] % (+/7 4 847)] - f19)* =7
Options :

1w 143
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2. K ?2-'\-':"
3. % 134

4‘ 3 ?D"l.l:?

Question Number : 59 Question Id : 25498928987 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A question is given, followed by three statements labelled I, IT and III. Identify which of the statements are sufficient and necessary to
answer the question.

Question:

Among the men, women and boys, who will complete the same piece of work the fastest?

Statements:

1. 9 men and 8 women can complete a piece of work in 18 days.

II. 12 men and 9 boys can complete the same piece of work in 24 days.

II1. 10 women and 9 girls can complete the same piece of work in 15 days.

Options :

1. % Any two of the three statements
2. & All statements I, II and III.

3. & Only statements I and II.

4. % The question cannot be answered even with the information given in all three statements.

Question Number : 59 Question Id : 25498928987 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
v me T TEE W o g f s B oow §) et og Bk e §ooa woae 8 W
o #ta & Fus AT AR TET §) GeER S F 99 9
LB
?ﬁ.nﬁmmmmﬁﬁ#mﬁmﬁmeﬁW
el
I. 5 7ew 3T 8 Figew Bl ww 18 B & s w= R
I TRymivomssmhsama M4 S E&gwasasa i
. 10 wigamw iy 8 T 36 R w15 B A& O S aE £
Options :

kAR AR EE
5 w11 #HT N

3 % Ferer | 3Tl

4 o OTET FUA # T ARG & T 6 T # Seod Fa7 G =1 FeT|

Question Number : 60 Question Id : 25498928998 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the number from among the given options that can replace the question mark (?) in the following series.
33,16.5,?,24.75,49.5, 123.75
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Options :
1. = 8.25
2. % 16.5
3. % 66
4. % 99

Question Number : 60 Question Id : 25498928998 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ty J5 s § TaET (7) & B 9§97 ST
33 1857 2495 485 12375

Options :

| % 8,25
2.« 185
3. % B8

4 % 59

Question Number : 61 Question Id : 25498929001 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The numerical value of the area of a rectangular field is 90 times the numerical value of its breadth. If the perimeter of the field is 240
metres, what is the breadth of the field?

Options :

1. % 60 metres

2. % Data provided are not adequate to answer the question
3. %" 30 metres

4. % 20 metres

Question Number : 61 Question Id : 25498929001 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
e HITARRT Hee & EFEH 7 HEUERE A THE S & HEaeHE A1 # 90 7 g ol #g=

T ofraTT 240 HreT ¥ oA #gw & 9fen = e

Options :

= BO FrET

5w TUA # IeoT oo & fAv R e d7y gev A9 #
3w 30 #AET

4 % 20 JET

Question Number : 62 Question Id : 25498929065 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A sum invested in Scheme B is thrice the sum invested in Scheme A. The investment in Scheme A is made for 4 years at 8% per annum
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simple interest and in Scheme B for 2 years at 13% per annum simple interest. The total interest earned from both the schemes is 31,320.
How much was invested in Scheme A?

Options :
1. % 31,200
2. % %1,140
3. %3960
4. &% %1,500

Question Number : 62 Question Id : 25498929065 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A== B & TR H R A A # TR & T TR A O T B O AR 8% Wi aw
BILTIOT 24T 97 4 T9T & (OO FwT AT B ¥ 13% 9fF 39 mwmor =4 97 2 99t & e oferet o=
foder fvar amam &1 21 SNt & & o s 11320 §) S A F T T a S R

=T
Options :
1. % 1,200
2. % 21,140
3. % 3960
4. % 21,500

Question Number : 63 Question Id : 25498929348 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Omne-third of a dizgonal of square is 342 m. What is the measure of the side of the square?
Options :

1. % 2m

2.% 9m

3. % 18m

4. % 6m

Question Number : 63 Question Id : 25498929348 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T = FEl = ovE T 302 e {9 & o fommw owm e

Options :
| % 2 "
2. W 9 HET
;. % 18 ART
4 % B HrET
GENERAL MENTAL ABILITY AND REASONING
Section Id : 2549897016
Section Number : 4
Section type : Online
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Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Display Number Panel :

Enable Mark as Answered Mark for Review and Clear Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :
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Mandatory
6

6

6

Yes

Yes

0

1
2549897057
Yes

null

Question Number : 64 Question Id : 25498910397 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the option in which the words share the same relationship as that shared by the given pair of words.

Jews : Synagogue
Options :

1. ®= Parsis : Temple

2. % Jains : Fire Temple
3. %" Buddhists : Pagoda
4. & Hindus : Vedas

Question Number : 64 Question Id : 25498910397 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

39 faereq o1 T 3 T e I8t Gty I B @ S [T T Weal &b SIS gRT A= fu MU B

ggal : R
Options :

1. ® ORYT : dfex
2. m@?aﬁﬁﬂﬁ?
3. f@a:wﬂ?ﬂ
4. h%gza?{

Question Number : 65 Question Id : 25498912879 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The positions of how many letters in the word WONDERFUL will remain unchanged when

the letters within the word are arranged alphabetically?

Options :
1. ®= Four
2. % One
3. % Two
4. % Three

Question Number : 65 Question Id : 25498912879 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

WONDERFUL %15 ¥ faram 31&Rl @1 fRUf srafkafdd 3@t oia 2rsg & 31eRY &1 quiigehd (alphabetically) H SFafeyd faar smam?
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Options :
1. & dR
2. ¥ T
3.5 Q)
4 %

Question Number : 66 Question Id : 25498919627 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the option that mentions the quality common to the three given words.

Rockies : Appalachian : Andes
Options :

1. % Ranges

2. & Slopes

3. % Peaks

4. % Hills

Question Number : 66 Question Id : 25498919627 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Y faeed BT 9 B Sl o faT 71U RTeal & AT HT=T Ural H1 3eerg Bl 5 |
Tﬁﬁam&mq@ﬁ

Options :

1.+ Tdd Y
2. & gd

3. %

4. % ggIsal

Question Number : 67 Question Id : 25498919695 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the option in which the numbers are related in the same way as are the numbers of the following set.

(6, 15, 28)
Options :
1. = (46, 56, 66)
2. % (50,59,71)
3. % (60, 67, 72)
4. % (60, 69, 82)

Question Number : 67 Question Id : 25498919695 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

39 fdopey &1 9a B Foraw et 3 UsR Tafdd & o fRafafad e &t =i g

(6, 15,28)
Options :
1. % (46, 56, 66)
2. % (50,59,71)
3. & (60, 67, 72)
4. % (60, 69, 82)
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Question Number : 68 Question Id : 25498920346 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Four pairs of words have been given, out of which three are alike in some manner and one is different. Select the one that is different.

Options :

1. % Flower : Petal
2. % Chair: Leg
3. & Circle : Arc
4. % Cover : Page

Question Number : 68 Question Id : 25498920346 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T3] & IR I T MU 8, B | i et oRe A 1 S § 8k U v 21 S 3o 8 S |
Options :

1. & QQ_Q”TUECS‘D[

2. = WETJT

3. % dd . dY

4. % Hdl: ¥

Question Number : 69 Question Id : 25498928160 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If each of the letters in the English alphabet is assigned odd numerical value beginning with
A=1, B=3 and so on, what will be the total value of the letters of the word INDIAN?

Options :
1. % 86

2. % 88
3. %89
4. % 96

Question Number : 69 Question Id : 25498928160 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TfE A=1, B=3 ¥ 3RY PP 3R 3T IH HH H ST quiATer § TS 3feR B fauH T-aTes A T SiidT €, o) ee; INDIAN &

&R BT Ho T T G2
Options :
1. = 86
2. % 88
3. %89
4. % 96
GENERAL AWARENESS
Section Id : 2549897017
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
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Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897058
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 70 Question Id : 2549895250 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As on August 2021, the maximum area allowed for a Special Economic Zone (SEZ) in India is:
Options :

1. % 2000 hectares

2. % 3000 hectares

3. % 4000 hectares

4. % 5000 hectares

Question Number : 70 Question Id : 2549895250 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

3T 2021 Bt FRUR F TR, YR H U =y 3nffe &1 (SEZ) & for sifiean wWierd &= famn g2
Options :

1. % 2000 gFRU

2. % 3000 I

3. % 4000 3FCI

4. % 5000 8ICTR

Question Number : 71 Question Id : 2549899682 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Which of the following Five-Year Plans of India had growth along with social justice and equality for achieving its goal as the main focus?
Options :

1. = VI

2. % VII
3. % VIII
4, % IX

Question Number : 71 Question Id : 2549899682 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

frufaed # J forg aadfa e & YR &1 9 Hied QTS =1 3R THIAT & WIY-91Y i & 060 BT U =1 12
Options :

1. % VI

2. % VII
3. % VIII
4. % 1X

Question Number : 72 Question Id : 2549899898 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who is the author of Psychology of Money?
Options :

1. % Robin Sharma
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2. & Stephen Covey
3. % George Simmel
4. % Adam Grant

Question Number : 72 Question Id : 2549899898 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
& T BT JFI?]%WFI'(Psychology of Money) P TGD B 87
Options :

1. & e TH

Question Number : 73 Question Id : 25498912768 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Rangaswami Cup is associated with:
Options :

1. % cricket

2. % hockey

3. & football

4. % archery

Question Number : 73 Question Id : 25498912768 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % fohdbe

2. & Gl

3. % Padd

4. & FRaroll

Question Number : 74 Question Id : 25498932130 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who among the following chief ministers remained in office for the longest period (as of July 2021)?
Options :

1. % Pawan Kumar Chamling

2. % Naveen Patnaik

3. ®% Mamata Banarjee

4. % Nitish Kumar

Question Number : 74 Question Id : 25498932130 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SATS 2021 T T STHBRT & 3ER, Fafied & § & 91 T 9ad od 399 a9 39 e R 6132
Options :

1. % Uqd $HR AT

2. & I yeIS

3. % AT St
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4. % FARIHAR

Question Number : 75 Question Id : 25498932562 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the given statements related to financial emergency under Article 360 of the Constitution of India is/are correct?

1. Proclamation of financial emergency issued shall cease to operate at the expiration of two months, unless, before the expiration of that
period, it has been approved by resolutions of both houses of the Parliament.

2. No emergency under Article 360 has been issued so far(August 2021).

3. Financial emergency can be declared by the Prime Minister.

Options :

1. %= Only 1
2. % Only 2
3.% 1 and 2
4. % Only 3

Question Number : 75 Question Id : 25498932562 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % $Had 1
2. ® 6Hdd 2
3.9 1 3R 2 g
4. ® $ad 3
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Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897059
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Question Number : 76 Question Id : 25498941285 Question Type : TYPING TEST Display Question Number : Yes Calculator :
None

Summer camps are supervised camps conducted to entertain as well as equip students with various life skills such as teamwork,
socializing, decision making, independent and responsible living and more. It aids the overall development of a child and children
have fun during this process as they get to explore new arenas.
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Question Number : 77 Question Id : 25498937916 Question Type : TYPING TEST Display Question Number : Yes Calculator :
None

Punctuality necessarily would mean doing things on time. But that does not suffice what punctuality stands for. For instance doing
things on time requires discipline and method. If a person is not disciplined nor has a method of doing things then it might be
challenging for them to be punctual. Punctuality is thus a collection of a lot of habits that make you aware of the necessity of doing
things on time. The world today has a deadline for everything. Without a deadline it is impossible to finish jobs quickly and
smoothly given that most of us usually like to procrastinate and let our work keep piling up. Punctuality not only makes someone
disciplined and methodical but it helps to overcome challenges too. Those people who get the habit of being punctual turn out to do
things quickly and save a lot of time. Having regard for time is also another important thing as far as punctuality is concerned.
Having respect time for means respecting your own time as well as the time of others associated with you. Starting right from
getting up from bed to arriving at school everything that one does in life requires them to respect their own time as well as the time
of the people around. If someone gets up late it is normal that they will be late in doing things that follow up. In that case this
person has no respect for his own time and neither does he respect the time of their associates. Not being punctual can prove to be
very costly. If a student is not on time they might lose out on things initially and in the end have a truckload of work. If the attitude
of not being punctual continues such students might lose out on more significant opportunities as adults. On the other hand being
punctual can help a student create an excellent impression. Therefore to be punctual one needs to have respect for time.
Punctuality is not something that occurs to someone quickly and naturally especially if that person is not in the habit of being
punctual. If someone wants to be punctual they need to steer clear of all sorts of complacency that they might be wrapped up with.
Punctuality requires a person to be disciplined and regular on all accounts. Following a strict routine and having a good sense of
respect for time can make anyone as punctual as the Japanese are. The Japanese have earned the title of being the most disciplined
race in the world and it is all because they are incredibly punctual. Punctuality is an integral part of character of a person. It is a
virtue by which people are noted and sometimes highly regarded no matter who they are and what they do. Being punctual means
doing your work on time. To be punctual one needs to have the habit of doing things regularly on time and not occasionally. That is
the only way one can be punctual. Punctuality does not require anyone to put in any extra effort. There is no exercise involved. To
be punctual having a routine and discipline is important. If someone follows a strict routine and is extremely disciplined from a
very early age then usually that person turns out to be very punctual.
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None
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